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1. Which one of the following states has the

highest area under wheat cultivation?

(A) Punjab

(B) Uttar Pradesh

(C) Madhya Pradesh

(D) Bihar

2. Which one of the following states has the

highest yield of wheat per unit area?

(A) Haryana

(B) Madhya Pradesh

(C) Punjab

(D) Uttar Pradesh

3. The total number of Agro-ecological zones

in India is :

(A) 15

(B) 17

(C) 19

(D) 20

4. The first Agricultural University of the country

is :

(A) J.N.K.V., Jabalpur

(B) G.B.P.A.U., Pant Nagar

(C) P.A.U., Ludhiana

(D) R.A.U., Bikaner

5. Double cropping in agriculture means raising

of :

(A) Two crops at different times

(B) Two crops simultaneously

(C) One crop along with another crop

(D) None of these

1. fuEufyf[kr esa ls fdl jkT; esa xsgw¡ dh d`f"k

ds vUrxZr lokZf/kd {ks= gS\

(A) iatkc

(B) mRrj izns'k

(C) e/; izns'k

(D) fcgkj

2. fuEufyf[kr esa ls fdl jkT; esa izfr bdkbZ

{ks= ij xsgw¡ dh mRikndrk lokZf/kd gS\

(A) gfj;k.kk

(B) e/; izns'k

(C) iatkc

(D) mRrj izns'k

3. Hkkjr esa df̀"k ikfjfLFkfrdh; {ks=ksa dh dqy

la[;k gS %

(A) 15

(B) 17

(C) 19

(D) 20

4. ns'k dk izFke d`f"k fo'ofo|ky; gS %

(A) ts-,u-ds-oh-] tcyiqj

(B) th-ch-ih-,-;w-] iar uxj

(C) ih-,-;w-] yqf/k;kuk

(D) vkj-,-;w-] chdkusj

5. d`f"k esa ;qXe iSnkokj dk vk'k; ______ dks

mxkus ls gSA

(A) fofHkUu le; ij nks Qly

(B) ,d gh lkFk nks Qly

(C) vU; Qly ds lkFk ,d Qly

(D) buesa ls dksbZ ugha

[P.T.O.]
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6. The region known as the Rice Bowl of India

is :

(A) Kerala and Tamil Nadu

(B) Delta region of Krishna-Godavari

(C) North-East region

(D) Indo-Gangetic plain

7. Which districts are known as areas of ‘White

Gold’ because of cotton cultivation?

(A) Ratlam - Khandwa

(B) Khandwa - Khargone

(C) Ujjain - Sajapur

(D) Dhar - Jhabua

8. Which is not a correct match?

Shifting agriculture State

(A) Pondu  Odisha

(B) Mashan  Himachal Pradesh

(C) Poonam   Kerala

(D) Jhoom   Assam

9. Most potential area for tidal energy in India

is :

(A) Chennai

(B) Cochin

(C) Haldia

(D) Bhavnagar

10. Which one of the following iron and steel

plant is located neither on iron ore area nor

on coal field but approximately between

them?

(A) Jamshedpur

(B) Bhadravati

(C) Durgapur

(D) Bokaro

6. Hkkjr esa ;g {ks= pkoy dk dVksjk dgykrk

gS %

(A) dsjy vkSj rfeyukMq

(B) d`".kk&xksnkojh MsYVk {ks=

(C) iwokZsRrj {ks=

(D) flU/kq&xaxk dk eSnku

7. fuEu esa ls fdu ftyksa dks dikl dh [ksrh ds

dkj.k ^lQsn lksus* dk {ks= dgrs gSa\

(A) jryke & [k.Mok

(B) [k.Mok & [kjxkSu

(C) mTtSu & 'kktkiqj

(D) /kkj & >kcqvk

8. dkSu&lk lqesfyr ugha gS\

   LFkkukarfjr d̀f"k dk uke  jkT;

(A) iks.Mw  mM+hlk

(B) ek'kka  fgekpy izns'k

(C) iksue  dsjy

(D) >we  vle

9. Hkkjr esa Tokjh; ÅtkZ dh lokZf/kd laHkkouk;sa

dgk¡ ij gSa\

(A) psUubZ

(B) dksphu

(C) gfYn;k

(D) Hkkouxj

10. fuEufyf[kr eas ls dkSu&lk yksgk&bLikr la;a=

ykSg v;Ld vkSj dks;yk {ks= ij u gksdj

nksuksa ds e/; fLFkr gS\

(A) te'ksniqj

(B) Hknzkorh

(C) nqxkZiqj

(D) cksdkjks
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11. Which one of the following states has the

largest Kms. of National Highways in India?

(A) Andhra Pradesh

(B) Rajasthan

(C) Uttar Pradesh

(D) Maharashtra

12. The proposed East-West and North-South

Express Highways cross at :

(A) Gwalior

(B) Jhansi

(C) Bhopal

(D) Varanasi

13. ‘Jawahar Tunnel’ passes through which

place?

(A) Banihal

(B) Pir Panjal

(C) Jojila

(D) Rohtang

14. The Konkan Railway connects :

(A) Mumbai to Manmad

(B) Roha to Mangalore

(C) Roha to Kochi

(D) Mangalore to Kochi

15. Which one of the following states is deprived

of rail service in India?

(A) Tripura

(B) Mizoram

(C) Meghalaya

(D) Arunachal Pradesh

11. fuEufyf[kr esa ls fdl jkT; esa jk"Vªh; jktekxkZsa

dh yEckbZ lokZf/kd ikbZ tkrh gS\

(A) vkU/kz izns'k

(B) jktLFkku

(C) mRrj izns'k

(D) egkjk"Vª

12. izLrkfor iwoZ&if'pe ,oa mRrj&nf{k.k ,Dlizsl

jktekxZ ,d nwljs dks dkVrs gSa %

(A) Xokfy;j esa

(B) >k¡lh esa

(C) Hkksiky esa

(D) okjk.klh esa

13. ^tokgj lqjax* dgk¡ ls xqtjrh gS\

(A) cfugky

(B) ihj iatky

(C) tksftyk

(D) jksgrkax

14. dksad.k jsyos tksM+rk gS %

(A) eqEcbZ ls eUekM dks

(B) jksgk ls eaxykSj dks

(C) jksgk ls dksfPp dks

(D) eaxykSj ls dksfPp dks

15. Hkkjr esa fuEu jkT;ksa esa ls dkSu jsy lsok ls

oafpr gS\

(A) f=iqjk

(B) fetksje

(C) es?kky;

(D) v#.kkpy izns'k

[P.T.O.]
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16. Which one of the following oil refineries is

not correctly matched?

(A) Digboi - IOC

(B) Trombay - HPCL

(C) Kochi - CRL

(D) Chennai - RP

17. Tilaiya dam has been built on :

(A) Bokaro river

(B) Barakar river

(C) Damodar river

(D) Konar river

18. Which of the following power plants provide

the energy for the industrial growth in NCR?

(A) Rana Pratap Sagar Atomic Power

Plant

(B) Kakrapar Atomic Power Plant

(C) Tarapore Atomic Power Plant

(D) Narora Atomic Power Plant

19. Ankaleshwar and Cambay fields are the

main producers of :

(A) Petroleum

(B) Natural Gas

(C) Coal

(D) Hydro power

20. Rampad Sagar Dam has been built on _____

river.

(A) Godavari

(B) Krishna

(C) Mahanadi

(D) Tapti

16. fuEu eas ls dkSu&lh rsy 'kks/ku'kkyk lgh

lqesfyr ugha gS\

(A) fMXcksbZ & vkbZ vks lh

(B) VªkEcs & ,p ih lh ,y

(C) dksfPp & lh vkj ,y

(D) psUubZ & vkj ih

17. fryS;k ck¡/k dk fuekZ.k gqvk gS %

(A) cksdkjks unh ij

(B) ckjkdkj unh ij

(C) nkeksnj unh ij

(D) dksukj unh ij

18. fuEufyf[kr esa ls dkSu&lk ijek.kq 'kfDr xg̀]

,u lh vkj esa vkS|ksfxd fodkl ds fy,

ÅtkZ iznku djrk gS\

(A) jk.kk izrki lkxj ijek.kq 'kfDr x̀g

(B) dkdjkikj ijek.kq 'kfDr x̀g

(C) rkjkiksj ijek.kq 'kfDr xg̀

(D) ujksjk ijek.kq 'kfDr xg̀

19. vadys'oj vkSj dSEcs {ks= _____ ds izeq[k

mRiknd {ks= gSaA

(A) [kfut rsy

(B) izkd`frd xSl

(C) dks;yk

(D) ty fo|qr

20. jkein lkxj ck¡/k dk fuekZ.k fdl unh ij

fd;k x;k gS\

(A) xksnkojh

(B) d`".kk

(C) egkunh

(D) rkIrh
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21. Which one of the following is not correctly

matched?

(A) Cement Porbandar

(B) Petro-chemical Nagthane

(C) Sugar Silvassa

(D) Iron and Steel Bokaro

22. The biggest fertilizer factory of India in the

cooperative sector is situated at :

(A) Phulpur

(B) Hazira

(C) Haldia

(D) Siwan

23. India’s largest petrochemical factory is

situated in the state of :

(A) West Bengal

(B) Assam

(C) Rajasthan

(D) Gujarat

24. Which one among the following industries

is the maximum consumer of water in India?

(A) Paper and Pulp

(B) Thermal power

(C) Engineering

(D) Textile

25. The Indian Institute of Pulses Research is

located at :

(A) Agra

(B) Lucknow

(C) New Delhi

(D) Kanpur

21. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha

gS\

(A) lhesUV iksjcUnj

(B) isVªks&jlk;u ukxFksu

(C) phuh flyoklk

(D) yksgk&bLikr cksdkjks

22. lgdkfjrk {ks= esa Hkkjr dk lcls cM+k moZjd

dkj[kkuk fLFkr gS %

(A) Qwyiqj

(B) gthjk

(C) gfYn;k

(D) floku

23. Hkkjr dk lcls cM+k isVªks&jlk;u dkj[kkuk

fdl jkT; esa fLFkr gS\

(A) if'pe caxky

(B) vle

(C) jktLFkku

(D) xqtjkr

24. Hkkjr esa fuEufyf[kr m|ksxksa esa dkSu&lk ,d

ty dk lcls cM+k miHkksDrk gS\

(A) dkxt ,oa yqXnh

(B) rki 'kfDr

(C) vfHk;kaf=dh

(D) oL= m|ksx

25. Hkkjrh; nygu vuqlU/kku laLFkku fLFkr gS %

(A) vkxjk

(B) y[kuÅ

(C) ubZ fnYyh

(D) dkuiqj
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26. Which one of the following coast is

associated with Kochi sea port?

(A) Malabar coast

(B) Konkan coast

(C) Coromandel coast

(D) North Circars coast

27. Which one of the following ports of India

handles the highest tonnage of import cargo?

(A) Kolkata

(B) Mumbai

(C) Paradip

(D) Kandla

28. Which of the following is the longest internal

waterway in the country?

(A) Kakinada - Marakkam

(B) Allahabad - Haldia

(C) Sadia - Dhubari

(D) Kollam - Kottapuram

29. Recently, which of the following states has

explored the possibility of constructing an

artificial inland port to be connected to the

sea by a navigational channel?

(A) Andhra Pradesh

(B) Chhattisgarh

(C) Rajasthan

(D) Karnataka

30. India’s place in milk production in the world

is :

(A) First

(B) Second

(C) Fifth

(D) Six

26. fuEu esa ls dkSu&lk rV dksfPp canjxkg ls

lEcfU/kr gS\

(A) ekykckj rV

(B) dksad.k rV

(C) dksjkse.My rV

(D) mRrjh ljdkj rV

27. Hkkjr ds fuEufyf[kr canjxkgksa esa ls dkSu&lk

,d ukSHkkj dk mPpre Vu Hkkj laHkkyrk gS\

(A) dksydkrk

(B) eqEcbZ

(C) ikjknhi

(D) dk.Myk

28. fuEufyf[kr esa ls ns'k dk lcls yEck vkUrfjd

tyekxZ dkSu&lk gS\

(A) dkdhukMk & ejDde

(B) bykgkckn & gfYn;k

(C) lkfn;k & /kqcjh

(D) dksYye & dksV~Vkiqje

29. gky gh esa fuEufyf[kr jkT;ksa esa ls fdlus

,d yEcs ukSlapkyu pSuy }kjk leqnz ls tksM+s

tkus ds fy, ,d d`f=e varjns'kh; canjxkg

ds fuekZ.k dh lEHkkouk dk irk yxk;k gS\

(A) vkU/kz izns'k

(B) NRrhlx<+

(C) jktLFkku

(D) dukZVd

30. Hkkjr dk nqX/k mRiknu esa fo'o esa dkSu&lk

LFkku gS\

(A) izFke

(B) f}rh;

(C) ik¡poka

(D) NBok¡
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31. In newly improved arid land the crop

suitable for the green manure is :

(A) Lobia

(B) Dhaincha

(C) Green gram (moong)

(D) Brown hemp (sanai)

32. The richest state in replenishable ground

water resource is :

(A) Andhra Pradesh

(B) Madhya Pradesh

(C) Uttar Pradesh

(D) Gujarat

33. Which one of the following states is the pioneer

in introducing contract farming in India?

(A) Haryana

(B) Punjab

(C) Tamil Nadu

(D) Uttar Pradesh

34. Which one of the following is not true in

respect of globalization impact on Indian

agriculture?

(A) Climate change

(B) Emphasis on cash crops

(C) Growth of income inequality

(D) Reduction of subsidies

35. Which of the following is not correctly

matched?

Revolution Related to

(A) Golden Horticulture

(B) Blue Poultry

(C) White Milk

(D) Green Agriculture

31. ubZ lq/kkjh xbZ Ålj esa gjh [kkn ds fy;s

mi;qDr Qly gS %

(A) yksfc;k

(B) <Sapk

(C) ew¡x

(D) 'kubZ

32. iquHkZj.k;ksX; HkkSety lalk/ku esa lcls lEiUu

jkT; gS %

(A) vkU/kz izns'k

(B) e/; izns'k

(C) mRrj izns'k

(D) xqtjkr

33. fuEufyf[kr jkT;ksa esa ls dkSu Hkkjr eas Bsdsnkjh

Ñf"k dks ykxw djus esa vxz.kh gS\

(A) gfj;k.kk

(B) iatkc

(C) rfeyukMq

(D) mRrj izns'k

34. Hkkjrh; Ñf"k ij oS'ohdj.k ds izHkko ds

lUnHkZ esa fuEu esa ls dkSu&lh O;k[;k vlR;

gS\

(A) tyok;q ifjorZu

(B) uxnh Qlyksa ij cy

(C) vk; vlekurk esa o`f)

(D) vkfFkZd lgk;rk esa dVkSrh

35. fuEufyf[kr esa ls dkSu&lh lqesfyr ugha

gS\

ØkfUr  lEcfU/kr

(A) lqugjh m|ku

(B) uhyh dqDdqV ikyu

(C) 'osr nw/k

(D) gfjr Ñf"k

[P.T.O.]
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36. Which one among the following is not

correctly matched?

(A) BALCO Raipur

(B) HINDALCO Pipari

(C) NALCO Bhubaneshwar

(D) HCL Khetri

37. In which cities of India, the first synthetic

rubber plant of the country was set-up?

(A) Lucknow

(B) Bhopal

(C) Sonipat

(D) Panipat

38. Which among the following industries is an

ancient industry in India?

(A) Jute

(B) Cotton textile

(C) Tea

(D) Sugar

39. In Tamil Nadu, maximum cotton textile

factories are found in :

(A) Chennai

(B) Coimbatore

(C) Madure

(D) Salem

40. Which among the following is a major

constituent of cement?

(A) Limestone

(B) Gypsum

(C) Ashes

(D) Clay

36. fuEufyf[kr eas ls dkSu&lk ,d lqesfyr ugha

gS\

(A) ckYdks jk;iqj

(B) fgUMkYdks fiijh

(C) ukYdks Hkqcus'oj

(D) ,p-lh-,y- [ks=h

37. Hkkjr ds fdl uxj esa] ns'k dk izFke d`f=e

jcM+ dk la;U= yxk;k x;k\

(A) y[kuÅ

(B) Hkksiky

(C) lksuhir

(D) ikuhir

38. fuEufyf[kr m|ksxksa esa ls Hkkjr esa dkSu&lk

izkphu m|ksx gS\

(A) twV

(B) lwrh oL=

(C) pk;

(D) phuh

39. rfeyukMq esa lokZf/kd lwrh oL= ds dkj[kkus

dgk¡ ik;s tkrs gSa\

(A) psUubZ

(B) dks;EcVwj

(C) enqjS

(D) lyse

40. fuEu esa dkSu lhesUV dk eq[; la?kVd

gS\

(A) pwuk iRFkj

(B) ftIle

(C) jk[k

(D) efV;kj
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41. ‘Abujhmar’ means :

(A) The unknown highlands

(B) Highlands surrounded by river

valleys

(C) The inaccessible highlands

(D) The accessible highlands

42. About how many languages are spoken in

India?

(A) 726

(B) 926

(C) 826

(D) 625

43. Among the following states, which one has

the maximum number of National Parks?

(A) Assam

(B) Meghalaya

(C) Arunachal Pradesh

(D) Andaman and Nicobar Island

44. Which is the largest tribe in India?

(A) Santhal

(B) Bhil

(C) Kol

(D) Gond

45. Planning Commission of India has divided

India into _____ Agro-climatic regions.

(A) 13

(B) 15

(C) 18

(D) 21

41. ^vcw>ekj* dk vFkZ gS %

(A) vKkr ioZrh; {ks=

(B) unh ?kkfV;ksa }kjk f?kjk mPp {ks=

(C) vlqxE; ioZrh; {ks=

(D) lqxE; ioZrh; {ks=

42. Hkkjr eas cksyh tkus okyh Hkk"kk;sa gSa yxHkx %

(A) 726

(B) 926

(C) 826

(D) 625

43. fuEufyf[kr jkT;ksa esa ls fdlesa jk"Vªh; m|kuksa

dh la[;k lokZf/kd gS\

(A) vle

(B) es?kky;

(C) v#.kkpy izns'k

(D) v.Meku ,oa fudksckj }hi lewg

44. Hkkjr esa lokZf/kd tutkfr dkSu&lh gS\

(A) laFkky

(B) Hkhy

(C) dksy

(D) xksaM

45. ;kstuk vk;ksx }kjk Hkkjr dks ______ d`f"k

tyok;q izns'kksa esa foHkkftr fd;k x;k gSA

(A) 13

(B) 15

(C) 18

(D) 21

[P.T.O.]
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46. Which of the following is the chief

characteristic of ‘mixed farming’?

(A) Cultivation of both cash and food

crops

(B) Cultivation of two or more crops in

the same field

(C) Rearing of animals and cultivation

of crops together

(D) None of these

47. Which of the following is not a characteristic

of Indian agriculture?

(A) Over-dependence on nature

(B) Low level of productivity

(C) Diversity of crops

(D) Predominance of large farms

48. The reason for low productivity in Indian

agriculture is :

(A) Overcrowding in agriculture

(B) Small land holding

(C) Traditional agriculture practices

(D) All of the above

49. Agriculture in India is considered as :

(A) A means of livelihood

(B) A profession

(C) A trade

(D) An industry

50. The two largest consumers of chemical

fertilizers in India are :

(A) Andhra Pradesh and Maharashtra

(B) Punjab and Haryana

(C) Punjab and Uttar Pradesh

(D) Uttar Pradesh and Andhra Pradesh

46. fuEufyf[kr esa ls dkSu&lh ^fefJr d`f"k* dh

izeq[k fo'ks"krk gS\

(A) uxnh vkSj [kk| Qlyksa dh [ksrh

lkFk&lkFk

(B) nks ;k nks ls vf/kd Qlyksa dks ,d

lkFk ,d gh [ksr ij mxkuk

(C) i'kqikyu vkSj Qly mRiknu dks

,d lkFk djuk

(D) mi;qZDr esa ls dksbZ ugha

47. fuEu esa ls ,d Hkkjrh; d`f"k dh fo'ks"krk

ugha gS\

(A) izd`fr ij vf/kd fuHkZjrk

(B) mRikndrk dk fuEu Lrj

(C) Qlyksa dh fofo/krk

(D) cM+s [ksrksa dh iz/kkurk

48. Hkkjrh; d̀f"k esa fuEu mRikndrk dk dkj.k gS %

(A) vko';drk ls vf/kd yksxksa dk d`f"k

ij fuHkZj jguk

(B) tksr dk NksVk vkdkj

(C) d`f"k dh ijEijkxr rduhd

(D) mi;qZDr lHkh

49. Hkkjr esa d`f"k dks le>k tkrk gS %

(A) thfodksiktZu dk lk/ku

(B) ,d O;olk;

(C) ,d O;kikj

(D) ,d m|ksx

50. Hkkjr esa jklk;fud moZjdksa ds nks cM+s miHkksDrk

gSa %

(A) vkU/kz izns'k vkSj egkjk"Vª

(B) iatkc vkSj gfj;k.kk

(C) iatkc vkSj mRrj izns'k

(D) mRrj izns'k vkSj vkU/kz izns'k
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51. Himalayas took about _____ million years

to attain their present height.

(A) 7

(B) 9

(C) 11

(D) 5

52. Black soil covers an area of about ______

in India.

(A) 5,26,000 sq. km.

(B) 5,36,000 sq. km.

(C) 5,46,000 sq. km.

(D) 5,56,000 sq. km.

53. ‘Kans’ and ‘Munj’ grasses grow in

abundance in :

(A) Uttar Pradesh

(B) West Bengal

(C) Maharashtra

(D) Both (A) and (B)

54. Which is an area of tropical evergreen

forest?

(A) The Eastern Ghat

(B) Madhya Pradesh

(C) The Western Ghat

(D) The Western Himalayas

55. Which one of the following states has the

longest coastline?

(A) Tamil Nadu

(B) Maharashtra

(C) Kerala

(D) Gujarat

51. fgeky; dks orZeku Å¡pkbZ izkIr djus esa

______ fefy;u o"kZ yxsA

(A) 7

(B) 9

(C) 11

(D) 5

52. Hkkjr esas dkyh feêh ls vkPNkfnr {ks= gS

yxHkx %

(A) 5,26,000 oxZ fdeh-

(B) 5,36,000 oxZ fdeh-

(C) 5,46,000 oxZ fdeh-

(D) 5,56,000 oxZ fdeh-

53. fuEu esa ls fdu {ks=ksa esa ^ewat* o ̂ dkal* ?kkl

izpqj ek=k esa mxrh gS\

(A) mRrj izns'k

(B) if'pe caxky

(C) egkjk"Vª

(D) nksuksa (A) vkSj (B)

54. m".kdfVca/kh lnkcgkj ou dk dkSu&lk {ks=

gS\

(A) iwohZ ?kkV

(B) e/; izns'k

(C) if'peh ?kkV

(D) if'peh fgeky;

55. fuEufyf[kr esa ls fdl jkT; dh lcls yEch

rVjs[kk gS\

(A) rfeyukMq

(B) egkjk"Vª

(C) dsjy

(D) xqtjkr

[P.T.O.]
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56. Which of the following latitudes determines

the Indian Standard Time?

(A) 88º30'

(B) 86º30'

(C) 84º30'

(D) 82º30'

57. India’s maximum stretch measures 3214 Km

from north to south and ____ km from east

to west.

(A) 2633

(B) 2933

(C) 2399

(D) 2366

58. Which of the following lines passes through

the central part of India?

(A) Greenwich line

(B) Equator

(C) Tropic of Cancer

(D) Tropic of Capricorn

59. About what percent of the total land area of

India lies in mountains?

(A) 13.7

(B) 12.7

(C) 11.7

(D) 10.7

60. Nicobar group of Islands have :

(A) 12 islands

(B) 21 islands

(C) 22 islands

(D) 25 islands

56. Hkkjr ds izkekf.kd le; dk fu/kkZj.k fuEu

esa ls fdl ns'kkUrj js[kk ds }kjk gksrk gS\

(A) 88º30'

(B) 86º30'

(C) 84º30'

(D) 82º30'

57. Hkkjr dk mRrj ls nf{k.k vf/kdre foLrkj

3214 fdeh- gS ,oa iwoZ ls if'pe foLrkj

______ fdeh- gSA

(A) 2633

(B) 2933

(C) 2399

(D) 2366

58. fuEu esa dkSu&lh js[kk Hkkjr ds e/; ls gksdj

xqtjrh gS\

(A) xzhufop js[kk

(B) Hkwe/; js[kk

(C) ddZ js[kk

(D) edj js[kk

59. Hkkjr ds lEiw.kZ {ks=Qy dk fdruk Hkkx

ioZrh; gS\

(A) 13.7

(B) 12.7

(C) 11.7

(D) 10.7

60. fudksckj }hi lewg esa lfEefyr gSa %

(A) 12 }hi

(B) 21 }hi

(C) 22 }hi

(D) 25 }hi
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61. Operation Flood means :

(A) Flood control

(B) To provide sufficient water in dry

regions

(C) To inspire the farmers to increase

milk products

(D) All of the above

62. The major economic activity of National

Capital Region is the :

(A) Cottage industry

(B) Dairy industry

(C) Agriculture

(D) Administrative services

63. Which of the following coal mines is not

correctly matched?

Coal mine State

(A) Bokaro Jharkhand

(B) Kalakot Karnataka

(C) Neyveli Tamil Nadu

(D) Singareni Andhra Pradesh

64. Which of the following is not a conventional

source of energy?

(A) Biomass

(B) Coal

(C) Hydroelectricity

(D) Natural gas

65. Which one of the following is the oldest

hydroelectric project?

(A) Bhakra

(B) Damodar

(C) Shivasamudram

(D) Tungbhadra

61. vkWijs'ku ¶yM dk vFkZ gS %

(A) ck<+ fu;a=.k

(B) lw[kkxzLr {ks=ksa esa i;kZIr ty miyCèk

djkuk

(C) nqX/k inkFkkZsa ds mRiknu gsrq fdlkuksa

dks izsfjr djuk

(D) mi;qZDr lHkh

62. jk"Vªh; jkt/kkuh {ks= dh izeq[k vkfFkZd fØ;k

gS %

(A) y?kq m|ksx

(B) nqX/k m|ksx

(C) d`f"k

(D) iz'kklfud lsok;sa

63. fuEufyf[kr eas ls dkSu&lh dks;yk [knku

lqesfyr ugha gS\

dks;yk [knku  jkT;

(A) cksdkjks >kj[k.M

(B) dkykdksV dukZVd

(C) fuosyh rfeyukMq

(D) flaxjsuh vkU/kz izns'k

64. fuEu esa ls dkSu&lk ÅtkZ dk ijEijkxr lzksr

ugha gS\

(A) tSo vif'k"V

(B) dks;yk

(C) ty fo|qr

(D) izkd`frd xSl

65. fuEufyf[kr esa ls dkSu lcls iqjkuh ty

fo|qr ifj;kstuk gS\

(A) Hkk[kM+k

(B) nkeksnj

(C) f'koleqnze

(D) rqaxHknzk

[P.T.O.]
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66. Uranium is found in :

(A) Chaibasa

(B) Roraburu

(C) Jojahatu

(D) Jadugoda area

67. When ‘‘Gas Authority of India Limited’’ was

established?

(A) July, 1985

(B) August, 1985

(C) August, 1984

(D) July, 1984

68. According to the Census 2011, India has

what percentage of the total population of

the world?

(A) 16.64%

(B) 17.64%

(C) 18.64%

(D) 15.64%

69. The percentage of decadal growth of

population (2001-2011) is the highest in

which of the following states?

(A) Bihar

(B) Maharashtra

(C) Uttar Pradesh

(D) West Bengal

70. Among the following states, which has the

lowest density of population (Census- 2011)?

(A) Meghalaya

(B) Arunachal Pradesh

(C) Sikkim

(D) Mizoram

66. ;wjsfu;e ik;k tkrk gS %

(A) pkbZcklk esa

(B) jksjkcq: esa

(C) tkstkgkVw esa

(D) tknwxksM+k esa

67. Hkkjrh; xSl izkf/kdj.k fyfeVsM dh LFkkiuk

dc dh xbZ Fkh\

(A) tqykbZ] 1985

(B) vxLr] 1985

(C) vxLr] 1984

(D) tqykbZ] 1984

68. tux.kuk 2011 ds vuqlkj fo'o dh fdrus

izfr'kr tula[;k Hkkjr esa fuokl djrh

gS\

(A) 16.64%

(B) 17.64%

(C) 18.64%

(D) 15.64%

69. fuEufyf[kr jkT;ksa eas ls fdl jkT; esa n'kdh;

tula[;k (2001-2011) of̀) lokZf/kd gS\

(A) fcgkj

(B) egkjk"Vª

(C) mRrj izns'k

(D) if'pe caxky

70. fuEufyf[kr jkT;ksa esa ls fdl jkT; esa tula[;k

dk ?kuRo (tux.kuk 2011) U;wure gS\

(A) es?kky;

(B) v#.kkpy izns'k

(C) flfDde

(D) fetksje
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71. Which of the following valley is located in

the Lesser Himalayas?

(A) Kotli valley

(B) Chaukhamba valley

(C) Dehradun valley

(D) Kangra valley

72. Between the valleys of the Narmada in the

north and that of the Tapi in the south lies

the :

(A) Vindhyan range

(B) Mahadeo range

(C) Aravalli range

(D) Satpura range

73. Which of the following plateau is located in

the east of Baghelkhand plateau?

(A) Chhota Nagpur Pleteau

(B) Malwa Plateau

(C) Deccan Plateau

(D) Maikala Plateau

74. Thalghat and Bhorghat are the important

passes in the :

(A) Eastern Ghats

(B) Sahyadris

(C) Himalayas

(D) None of the above

75. Average height of Vindhyan range is :

(A) 457 metre to 600 metre

(B) 457 metre to 610 metre

(C) 457 metre to 680 metre

(D) 457 metre to 700 metre

71. fuEufyf[kr esa ls dkSu&lh ?kkVh y?kq fgeky;

esa fLFkr gS\

(A) dksVyh ?kkVh

(B) pkS[kEck ?kkVh

(C) nsgjknwu ?kkVh

(D) dkaxM+k ?kkVh

72. mRrj eas ueZnk ?kkVh rFkk nf{k.k esa rkih ?kkVh

ds e/; fLFkr gS %

(A) foU/;u Js.kh

(B) egknso Js.kh

(C) vjkoyh Js.kh

(D) lriqM+k Js.kh

73. fuEufyf[kr esa ls dkSu&lk iBkj c?ksy[k.M

iBkj ds iwoZ esa fLFkr gS\

(A) NksVk ukxiqj iBkj

(B) ekyok iBkj

(C) nDdu dk iBkj

(D) eSdky iBkj

74. Fkky?kkV vkSj Hkksj?kkV _____ ds izeq[k njasZs

gSaA

(A) iwohZ ?kkV

(B) lg;kfnz

(C) fgeky;

(D) mi;qZDr esa ls dksbZ ugha

75. foU/; Js.kh dh vkSlr Å¡pkbZ gS %

(A) 457 ehVj ls 600 ehVj

(B) 457 ehVj ls 610 ehVj

(C) 457 ehVj ls 680 ehVj

(D) 457 ehVj ls 700 ehVj

[P.T.O.]
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76. Which of the following is the period of

stagnant population?

(A) 1981-2001

(B) 1951-1981

(C) 1921-1951

(D) 1901-1921

77. The child sex ratio (0-16 years) according

to the Census of 2011 was :

(A) 910

(B) 914

(C) 918

(D) 922

78. Which one of the following states recorded

less than 85 percent literacy rate (2011)?

(A) Himachal Pradesh

(B) Maharashtra

(C) Punjab

(D) Tamil Nadu

79. The lowest female literacy rate in the Census

2011 was recorded in :

(A) Rajasthan

(B) Bihar

(C) Jharkhand

(D) Odisha

80. In which of the following states of India,

lowest sex-ratio is found?

(A) Punjab

(B) Haryana

(C) Bihar

(D) Rajasthan

76. fLFkj tula[;k dh vof/k fuEu eas dkSu&lh

gS\

(A) 1981-2001

(B) 1951-1981

(C) 1921-1951

(D) 1901-1921

77. 0-16 vk;q oxZ esa tux.kuk 2011 eas fyaxkuqikr

fdruk Fkk\

(A) 910

(B) 914

(C) 918

(D) 922

78. fuEufyf[kr eas ls fdl jkT; esa 85 izfr'kr ls

de lk{kjrk nj (2011) vafdr dh xbZ\

(A) fgekpy izns'k

(B) egkjk"Vª

(C) iatkc

(D) rfeyukMq

79. tux.kuk 2011 ds vuqlkj efgyk lk{kjrk

nj _______ esa U;wure FkhA

(A) jktLFkku

(B) fcgkj

(C) >kj[k.M

(D) mM+hlk

80. Hkkjr ds fuEufyf[kr jkT;ksa esa ls fdlesa

U;wure fyaxkuqikr gS\

(A) iatkc

(B) gfj;k.kk

(C) fcgkj

(D) jktLFkku
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81. The maximum wind velocity has been

measured in ____ cyclone after Super

Cyclone of Odisha (1999).

(A) Hudhud (2014)

(B) Nilofar (2014)

(C) Thane (2011)

(D) Phailin (2013)

82. Which of the following is called to be as

‘Black Iron’?

(A) Magnetite

(B) Hematite

(C) Siderite

(D) Limonite

83. Which of the following group contains the

largest hematite ore reserves in India?

(A) Gorumahisani-Badampahar belt

(B) Barajamada group

(C) Baladila, Raoghat and Aridongari

group

(D) Bellary-Hospet area

84. Zawar in Udaipur district of Rajasthan is the

only producing mining area of :

(A) Lead

(B) Gold

(C) Tungsten

(D) Chromite

85. India imports nickel from :

(A) Canada

(B) U.S.A.

(C) Indonesia

(D) Brazil

81. mM+hlk ds lqij lkbDyksu ¼pØokr½ ¼1999½

ds i'pkr ______ pØokr esa vf/kdre iou

xfr ekih xbZA

(A) gqngqn (2014)

(B) uhyksQj (2014)

(C) Fkk.ks (2011)

(D) Qsfyu (2013)

82. fuEu esa ls fdls ^dkyk yksgk* Hkh dgrs

gSa\

(A) eSXusVkbV

(B) gsekVkbV

(C) flMsjkbV

(D) fyeksukbV

83. fuEufyf[kr esa ls fdl lewg esa Hkkjr dk

gsesVkbV v;Ld dk lcls cM+k Hk.Mkj gS\

(A) xq#efgluh& cknkeigkM+ isVh

(B) ckjktenk lewg

(C) cSykMhyk] jko?kkV vkSj vfjnksaxjh

lewg

(D) csYykjh&gkLisV {ks=

84. jktLFkku dk tkoj ¼mn;iqj ftyk½ ____

[kfut mRiknu dk ,dek= LFkku gSA

(A) lhlk

(B) lksuk

(C) VaxLVu

(D) ØksekbV

85. Hkkjr fufdy vk;kr djrk gS %

(A) dukMk ls

(B) ;w-,l-,- ls

(C) b.Mksusf'k;k ls

(D) czkthy ls
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86. Most of the drainage of Himalaya is :

(A) Antecedent

(B) Consequent

(C) Obsequent

(D) None of the above

87. Which of the following river divides the whole

peninsula into two unequal parts?

(A) Chambal

(B) Krishna

(C) Narmada

(D) Tapti

88. Which of the following is the fresh water

lake?

(A) Phalodi

(B) Koleru

(C) Sambhar

(D) Pullicut

89. Which of the following is the hottest month

in Srinagar?

(A) May

(B) June

(C) July

(D) August

90. The Norwesters (in West Bengal) originate

over the :

(A) Chhota Nagpur Plateau

(B) Malwa Plateau

(C) Chhattisgarh Plateau

(D) Southern Plateau

86. fgeky; dh ufn;ksa dk viokg vf/kdka'kr%

gS %

(A) iwoZxkeh viokg

(B) vuqxkeh viokg

(C) izR;kuqorhZ viokg

(D) mi;qZDr esa ls dksbZ ugha

87. fuEufyf[kr eas ls dkSu&lh unh izk;}hih;

Hkkx dks nks vleku Hkkxksa eas foHkDr djrh

gS\

(A) pEcy

(B) Ñ".kk

(C) ueZnk

(D) rkIrh

88. fuEufyf[kr esa ls dkSu&lh LoPN ty dh

>hy gS\

(A) Qyksnh

(B) dksys#

(C) lkaHkj

(D) iqyhdV

89. fuEufyf[kr eas ls dkSu&lk eghuk Jhuxj esa

lcls xeZ gksrk gS\

(A) ebZ

(B) twu

(C) tqykbZ

(D) vxLr

90. dkyoS'kk[kh ¼if'pe caxky½ dh mRifRr gksrh

gS %

(A) NksVk ukxiqj dk iBkj ds Åij

(B) ekyok iBkj ds Åij

(C) NRrhlx<+ dk iBkj ds Åij

(D) nf{k.kh iBkj ds Åij
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91. Which of the following ore generally occurs

in the Dharwar and Cuddapah system of the

Deccan peninsula?

(A) Pyrolusite

(B) Peridotite

(C) Hematite

(D) Chalcocite

92. Which of the following is the largest

producer of high quality black mica in the

world?

(A) Andhra Pradesh

(B) Rajasthan

(C) Jharkhand

(D) Tamil Nadu

93. Neveli Lignite Corporation was established

in :

(A) 1956

(B) 1958

(C) 1960

(D) 1965

94. Which of the following is the most important

oilfields of Cambay basin?

(A) Nurpur

(B) Kalol

(C) Lunej

(D) Siswas

95. Which of the following power station using

the natural gas for power generation?

(A) Namrup

(B) Dhuvaran

(C) Bokaro

(D) Both (A) and (B)

91. fuEufyf[kr esa ls dkSu&lk [kfut nDdu

izk;}hi esa /kkjokM ,oa dMIik Øe esa feyrk

gS\

(A) ikbjksyqlkbV

(B) isfjMksVkbV

(C) gsesVkbV

(D) pSYdkslkbV

92. fuEufyf[kr esa ls dkSu fo'o esa mPpdksfV ds

dkyk vHkzd dk lokZf/kd mRiknd izns'k

gS\

(A) vkU/kz izns'k

(B) jktLFkku

(C) >kj[k.M

(D) rfeyukMq

93. usosyh fyXukbV dkikZsjs'ku dh LFkkiuk ______

esa gqbZ FkhA

(A) 1956

(B) 1958

(C) 1960

(D) 1965

94. fuEufyf[kr esa ls dkSu&lk dSEcs csflu dk

izeq[k rsy {ks= gS\

(A) uwjiqj

(B) dyksy

(C) yqust

(D) flLckl

95. fuEufyf[kr esa ls dkSu&lk fo|qr dsUnz] izkdf̀rd
xSl dk mi;ksx ÅtkZ mRiknu ds fy, dj jgk
gS\
(A) uke:i
(B) /kqokju
(C) cksdkjks
(D) nksuksa (A) vkSj (B)

[P.T.O.]
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96. Indravati National Park is located in :

(A) Baghelkhand plateau

(B) Bundelkhand plateau

(C) Narmada valley

(D) Baster region

97. How much area of forested land is deprived

of its natural forests every year in India

because of practicing of shifting (Jhuming)

cultivation?

(A) 8,000 sq. km.

(B) 9,000 sq. km.

(C) 10,000 sq. km.

(D) 14,000 sq. km.

98. Which of the following canals is responsible

for salinization of widespread land area in

Rajasthan?

(A) Indira Canal

(B) Bikaner Canal

(C) Agra Canal

(D) Sirhind Canal

99. Indira Gandhi National Forestry Academy is

located in :

(A) Jorhat

(B) Bangalore

(C) New Delhi

(D) Dehradun

100. The extension of NCR is not in which of the

following state?

(A) Punjab

(B) Haryana

(C) Delhi

(D) Rajasthan

96. bUnzkorh jk"Vªh; m|ku fLFkr gS %

(A) c?ksy[k.M iBkj esa

(B) cqUnsy[k.M iBkj esa

(C) ueZnk ?kkVh esa

(D) cLrj {ks= esa

97. Hkkjr esa >wfeax d`f"k }kjk izfro"kZ fdrus oxZ

fdeh- ou {ks= dk fouk'k gksrk gS\

(A) 8,000 oxZ fdeh-

(B) 9,000 oxZ fdeh-

(C) 10,000 oxZ fdeh-

(D) 14,000 oxZ fdeh-

98. jktLFkku esa] fuEu esa ls fdl ugj }kjk

flapkbZ ds dkj.k tyHkjko gksus ls foLrr̀ {ks=

yo.khdj.k }kjk izHkkfor gqvk gS\

(A) bfUnjk ugj

(B) fcdkusj ugj

(C) vkxjk ugj

(D) ljfgan ugj

99. bfUnjk xk¡/kh okfudh vdkneh dgk¡ fLFkr

gS\

(A) tksjgkV

(B) cSaxykSj

(C) ubZ fnYyh

(D) nsgjknwu

100. jk"Vªh; jkt/kkuh {ks= dk foLrkj fdl jkTe

esa ugha gS\

(A) iatkc

(B) gfj;k.kk

(C) fnYyh

(D) jktLFkku
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA
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